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Q-1 (A) Write the meaning, uses and assumptions of linear programming, (8)
Q-1 (B) Solve the following linear programming problem by using Graphical method. )]

Max Z=70x+100y
st 3x+y <2100

4x+3y<2100
x<450, y<450
x,y>0
OR
Q-1 Solve the following Transportation Problem by in
! 1. NWCM
2. MM
3. VAM
A B C D Supply
P 19 30 50 10 50
Q 70 30 40 60 90
R 40 8 70 20 60
Demand 50 60 50 40
Q-2 (A) Discuss hungerian method to solve ussignment problem. (6)
Q-2 (B) Solve the following Assignment Problem by hugerian method. ()
A B C D E :
P 8 4 2 6 7
Q 0 9 5 5 4
R 3 8 9 2 6
S 4 3 1 0 3
T 9 5 8 9 5
Q-2 (C) Solve the following Assignment Problem by hugerian method. (6)
A B C D B
P 0 7 14 21
Q 12 17 22 27
R 12 17 22 21
S 18 22 26 30
OR
Q-2 (A) Explain replacement problem. (6)
Q-2 (B) Theinitial cost of machine is Rs. 7100 and resale value is Rs.100. the maintenance cost  (6)
‘ are as follows,
Year 1 2 3 4 5 6 7 8
Cost
Rs. 200 350 500 700 | 1000 | 1300 | 1700 | 2100

When should the machine be replaced?

(P70



Q-2 (C) The initial cost of machine is Rs.8000. from past records it is found that the maintenance  (6)
cost and resale value are as given below,

5 6 7 8
2500 | 3800 | 4800 | 6000

Resale value | 4000 | 2000 1200 | 600 500 400 400 400
Determine at which time it is profitable to replace the machine?

Q-3 (A) Obtain the equation of a Tine passing through two points A(xy,y;) and B(xa,y2) 6]

Q-3 (B) Find the equation of a line passing through point (2,5) and making equal intercepts on the 6)
axes. Also find its slope.

Q-3 (C) Find the equation of a line whose slope is 1/5 and which passes through the point of (6)
intersection of lines,
X-4y+18=0 and

Xty-12=()
. OR
Q3 (A) Obtain the equation of a line making intercept ‘a’ on x-axis and infercept ‘b’ on y-axis 35)
Q-3 (B) Find the distance, slope and equation of a line passing through A(3,4) and B(5,8) (6)
Q-3 (C) Find the equation of a line perpendicular to Sx-+y-+2=0 and passing through (3,1) {6)
4 @) gy 2 for following ®

(1) Y=¢*5" . (2) y=x’3x%+4x49 (3) y=e*H(x+2)(x-3)
() y=3845t+7, x=7t%51+8
Q4 @) Find 2 if )
(1) Y=(4x*+3x+5y
_I-¢ _ ¢
@ Y= X=—

1+t
OR
Q-4 (A) Write the rules of differentiation and find d*yax? if, 9
- _ logx
Q-4 (B) Find the maximum and minimum vafye of the function, )]

feo=x-12x*144x+10
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